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1a. False, the board is 10cm tdller than
im,

2a. Probably longer

3a. 3m 30cm

4a. fishing net - ITm 50cm, car -4m 90cm,
cucumber - 30cm

1b. Various possibilities, any reasonable
answer acceptable, for example: frain
10m and 70cm; go-kart 2m and 10cm
2b. The lamp should be measured inm.
3b. No, Anna has positioned the snake in
the middle of the scale, not at 0.
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5a. False, the ladder is 11cm longer than
Tm.

éa. Shorter

7a. 4m é5¢cm

8a. paddling pool - Im45cm, carrot -

17cm. bus -8m
4b. Various possibiliies, any reasonable

answer acceptable, for example: coach
?m and 92cm; surfboard 1Tm and 10cm
5b. The cucumber should be measured in
cm.

éb. No, Simon has not aligned the snake's
tail with 0.
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9a. False, it is 113cm taller than 1m.

10a. Probably longer

11a. Im 24cm

12a. Racket - 73cm, bike 172cm, swings -~

2m %6cm
7b. Various possibilifies, any reasonable

answer acceptable, for example: lorry
987cm; bike Tm and 45¢cm

8b. The wheelbarrow should be measured
inm,

9b. No, Leila has not aligned the snake's
tail with 0.



